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trigonometric function





to be continued...
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where normally  generates a particular Mercator series like an alternating harmonic CONVERGING series!
(although not for absolut values).


but assuming 

 

 sets the Mercator series to zero, but  

by reductio ad absurdum, the Mercator series is not defined by  for 

 (mantissa = zero) 

proof of the irrationality of e

if e = a/b then a(b-1)! should be an integer







from Geometric series to Mercator series :
















a proof of the divergence of the harmonic series 
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